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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 506 2) 705 3) 406 4 107
- 73 -578 -270 - 32 5
3
4,
5 302 6 908 7 508 8 501 >
- 223 - 780 - 494 - 1 6
7.
8.
9 809 10) 503 1) 207 12) 901 .
-776 - 313 -198 - 552
— — — 10.
11.
12.
13) 101 14) 804 15) 801 16) 308 13.
- 96 - 333 - 759 - 41
- - - 14.
15.
16.
17) 507 18) 206 19) 301 200 704 17
-128 -163 - 21 —_402
18.
19.
20.
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 433
1) 506 2 705 3 406 4 107
- 73 -578 -270 - 32 5 127
433 127 136 75
3 136
4. 75
5 302 6) 908 7 508 8 501 > 9
- 223 - 780 - 494 -7 . 128
79 128 14 430
7 14
8 430
9 809 10) 503 11) 207 12) 901 9 33
-776 -313 -198 ;552 190
33 190 9 349 10
11. 9
12 349
13) 101 14) 804 15 801 16) 308 13. 5
- 96 - 333 - 759 - 41
5 471 42 267 14, 471
15. 42
16. 267
17 507 18) 206 19 301 200 704 o 379
-128 -163 - 21 ;402
379 43 280 302 18. 43
10, 280
20, 302
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
190 75 79 136 433
128 14 9 471 349 1
127 42 430 33 5
2
1) 506 2) 705 3) 406 3.
- 73 - 578 -270
4,
5.
6.
4 107 5 302 6) 908
- 32 - 223 - 780 .
8.
0.
) 508 8 501 9 809 10.
- 494 - 71 -776
— — — 11.
12.
13.
100 503 1) 207 12) 901
- 313 - 198 - 552 1
15.
13) 101 14) 804 15) 801
- 96 - 333 - 759
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